3GPP TSG-SA5 (Telecom Management)
S5-100609
Meeting SA5#70, 1-5 Mar 2010, Xiamen, P.R. China
revision of S5-10xyzw
Source:
Ericsson
Title:  


SON Management architecture
Document for:
Discussion

Agenda Item:
6.6.1 UID_390007 SON
1
Decision/action requested
Discussion needed to choose one architecture for standardization.
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Background

Three SON Management architectures are presented here for discussion.  (See detail of one proposals in [1]).  All three architectures can satisfy the requirements of managing SON functions.  
SA5 is expected to finalise and use a single architecture for standardization in Release 9.

To illustrate the three proposals, two hypothetical network scenarios are used.

· Network scenario A: 100 eNB under one SN.  10 eNB uses target T2, the rest uses target T1.
· Network scenario B: 2000 eNB under one SN.  Half eNB uses target T1, other half uese target T2
4
The 3 Proposals

4.1
Proposal 1: 
One instance of HOOF per selectionCriteria
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Network scenario B: 2000 eNB under one SN.  Half eNB uses target T1, other half uese target T2
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4.2
Proposal 2: 
One instance of HOOF, one list within this instance per selectionCriteria (source: Motorola)
Network scenario A.
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Network scenario B.
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4.3
Proposal 3: 
UML class diagram

Introduce OTargets IOC in EUTRAN NRM IRP [2].
OTargets IOC is similar to HOOFunction IOC of previous two proposals except that 

· it does not contain attribute selectionCriteria;

· it uses the three imported (from 32.672) state attributes instead of defining its own state attribute (e.g. attribute state of the previous two proposals).

 Attribute targetList is identical to that of previous two proposals.  
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Instance diagram support Network scenario A
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Instances of Network scenario B.

No drawing.
One HOOF instances under SN1 and 1000 HOOF instances, each under one ENBFunction.
Proposal-3 is an attempt to use the established name-tree to place the targets.  
Advantages are, for example,...
a) Author does not need to specify what happens when IRPManager request 
    a.1) policy to be applied to a non-existent instance for the base-instance-of-scope.
    a.2) policy (of a specific kind like HOOFunction instances) when there is an existence of such policy.
b) Author does not need to be concerned (make English text in spec to explain ...) with MIB has SN instance, if MIB has recursive SN instances, if MIB has a forest of SNs.
c) Author does not need to specify the syntax of the criteria string, especially the one used in model-2.
d) Implementation is complex when a new request to install a new Policy comes in (to IRPAgent) and there is some Policies already in existence.  The checking IRPAgent has to do (so it can accepts the new Policy) is complex (relative to using model-
Another advantage is that it is ‘natural’ to support the SA5 so-called Context-B where there is only one eNB (not a network of eNBs).  Using Proposal 3 in Context-B, one does not need to create a SN instance.
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